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1. The highest une@ployment rate ever recorded in the inited States was
é%§ gg percent in :Ee %gggs. &2 25 percent in the 1930s.

percen n e B. 4) 10 percent in the 1980s.
{5) 15 percent in the 1910s. P the 1980s

2. If a given market basket of goods and services thaticost $40 in the base
year now costs $120, then the current value of the price index is
(1) 120. (2) 300. (3) 33.3. (4) 3.0. - (5) 0.33.

3. In an in@ifference-curve diagram, when the price of?a product increases,
the decline in quantity demanded that results if consumer utility or
welfare is kept constant is referred to as the i
213 substitution effect. éz; budget-line effect.

3) utility effect. 4) income effect.

4, BEach of the following is one of the main functions df money except

21 standard of deferred payment. (2; instrumentiof credit.
3) store of value. ’ (4) medium of exchange.
(5) unit of value.

5. Whenltbe Federal Reserve purchases a $10,000 government bond, the money
supply 1 ,
él increases by $10,000. 22; increases by more than $10,000.

3) increases by less than $10,000. 4) decreases by $10,000.
(5) decreases by more than $10,000.

6. If the money supply grows from $600 billion to $630 billion in 1988, then
the growth rate of the money supply is
(1; 30 percent. (2) 10 percent. (3) 6 percent. (4) 5 percent.
(5) 3 percent.

7. The IS curve shifts to the right
(1) only if government spending increases.
é2 on%y if Eﬁxes decreasei L

i su ncreasges.
(3 g? gi%ger gogggg%entpgpgnding rises or taxes falll.
(5) if either government spending or the money supply increases.

8. Which of the following decades was characterized by stagflation?

(1; The 1930s. (2) The 1940s. (3) The 1950s.| (4) The 1Y60s.
(5) The 1970s. .
9. The slope of the indifference curve at any point refllects
(1) income level. (2) prices. (3; utility level.
(4) marginal rate of substitution. (5) demand.
Questions 10-11 refer to a firm whose production is deedribed by Table 1.
10. The marginal revenue product hgggg_gj. o -
of the fifth worker in Table Number of | Price of |Amount of |Price of
1 is _¥Morkers Workers | OQutput Qutput
1) $356.40. (2; $149.82. 1 $10.0 10 $5.00
3; $54.00. (4) $15.84. 2 10.2 18 4.84
5) $18.16. 3 10.40 24 4.72
DolsR | 3| i
11. The marginal factor cost of 5 10.8 .
the sixth worker in Table 1 6 11.03 36 4.48
is 7 11.2¢ 38 4.44
1) $11.00. (23 $0.20. 8 11.40 39 4.42
§3§ $12.00. (4) $3.00.
(5) $10.80. :
12. The kinked-demand model of oligopoly results when

the firm is a price leader. .
%é) otger firms foglow price increases but not decreases.
g other firms follow price decreases but not incrgases.
)
)

firms collude to maximize jo@nt profits.
other firms do not follow price changes.
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Compared to perfect competition, a monopoly will

{1) charge a higher price. (2) produce more output.

(3) have lower average costs. (4 have higher marginal revenue.
(5) increase economic efficiency.

Which of the following does not affect the position of the market demand
curve for a good?

(1) The price of the good.

2) Prices of other good. '

33 The preferences of individual households.

4) Incomes of households.

"(5) The number of households participating in the market.

If the price of a good falls from $0.90 to $0.70 ptr unit and quantity
demanded increases from 35 units to 45 units, then the coefficient of
the price elasticity of demand is

(1) 1. (2) 9/1. (3) 1/2. (4) 7/9. (5) o.

The cross-price elasticity of the demand for oragne juice with respect
to the price of apple juice is probadbly

(13 negative. (2) near infinity. (3) zero.

(4) insignificant. (5) positive.

Which of the following would be appropriate fiscal pollcy to combat an
inflationary gap?

1) Increasing government spending. &2; Decreasing the money supply.
3; Increasing the money supply. 4) Decreasing taxes.

5

When marginal cost is decreasing,
1) average cost is below marginal cost.
2) diminishing returns are occurring.
(3) average cost is flat.
(4) total cost is falling.
(5) marginal physical product is increasing.

Increasing taxes.

If the marginal rate:-of substitution -of capital for labor is:2.and the
price of capital is $6 per machine hour, then 1r firms are maximizing*
profits, the price of: labor is :

1) $12. (2) $6. (3) 83. (4) $2.

25) impossible to determine from the data given.

If the reserve ratio that banks desire to maintain is 0.12, then the
deposit multiplier is

1) 12. (2) 10. (3) 8.3. (4) 0.83.

5) impossible to determine from the data given.

(109%)

-Suppose that the demand curve for the product of a monopolist is given by

200 - 10°P.
that the monopolist 8 average total cost is
A'C = 0.05 Q + 5 + 225/Q

(1) Determine how much output the monopolist will produce if 1t maximizes

its profits.
2) What price will it charge?
3) What are its total profits (or Losses)?

o EBRY=C+1+G, 1=100, G=80, C=20+0.8Y (10%)
Bf (1) HEEARMBETF?
(2)EXFIRROHBAKII00, M (1) EFHERMBANERD?2BROFTEFKR?

s RAMRIFRARRARSRAHAQ®=36—-1/3P Q5=-9+1/2P
(1) RRAMRZHGABRIGEREK .  (5%)
(2) EBRRHAMRESRMMEL ORI RS RRAMRBAZUNSMARIUSRE. (5%)
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7N« REMTARMHEGNP, NNP, N1, P1, DI: (R @)
RMAEWLIS00, #E200, {#HRIEW400, FERS00, BFWMKL0O0,
RALAK150, MAKKRIOO, AFRWRLIBO0, EWEHA00,
U800, NG00, HEFRZLL20. n (10%)

'b * REBRIBFRAMURANHBMNE, PUBH - F HERYENE iﬂkﬁ&t%ﬁﬁﬂﬂil’.ﬁ‘ﬁl s H—
FEXARBRITENFR BRSREES, RMILHEREREORRRRREEZ LA N ?
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